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B— B BIM SNE (1438)
AL F 2S5 —DES (45%)
(R K A OUT | IN |GROSS|HDCP| NET
1 =Sk B 42 38 80 12 68
2 M)l {ZX 37 39 76 6 70
3 Al F0=E 41 42 83 13 70
4 e W17 40 39 79 8 71
5 ERARKEH 42 37 79 6 73
10 A0 [EiE 39 34 73 +2 75
15 E=IF B 41 39 80 3 e
20 iz} 3 f2 44 45 89 11 78
25 RBINIKS 46 45 o1 12 79
30 AN & 48 42 90 9 81
BG s0 Big 39 34 73
B#lLF+a21>5—DE6 (43%)
(LY K & OUT | IN |GROSS|HDCP| NET
1 ik 175 48 45 93 29 64
2 mwE ZA 48 43 91 21 70
3 BA B 46 50 96 26 70
4 O FR3h 46 41 87 16 71
5 B 5= 45 48 93 22 71
10 NE == 44 44 88 14 74
15 K &8 46 47 93 18 75
20 bRy B— 53 52 105 29 76
25 = e 44 50 94 15 79
30 $RED {B— 46 50 96 15 81

BG = 5l 41 45 86
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TOSVRIZT « UT 1 —ADED (55%)
Ry K A OUT | IN |GROSS|HDCP| NET
1 RIF AE 47 45 92 30 62
2 2r =& 46 48 94 27 67
3 fUsf BI— 47 48 95 27 68
4 & EARR 43 40 83 13 70
5 R Z08 47 42 89 19 70
10 =H i 42 41 83 11 72
15 A& FX 43 48 91 18 73
20 KE 8L 48 44 92 18 74
25 SN B’ 44 42 86 10 76
30 REX B 59 48 107 30 e
BG A& =710 39 42 81
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